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TUTORIAL SHEET - (12)

Make "R"™ the subject Change the subject to the letter
indicated in the brackets.

Y
15) I=gx 22) F=F +F, (F.)
2 i
16) P=m§ 23) h,=h +F e (h.)
24) =S, 4+€-5. e, (s.)
1 2 1
17) Fo kM
R
25) L=S,+€-S, (Sz)
18) B=A-R?

ANSWERS (to Tutorial sheetg.):-

(1) x=21 (2) x=36 (3)x=3 (4) x=6
19) C=P-RN .

(5) x=4 (7) x=7 (8) x-—S (9) x=7

(10) x=ab (H)x — (12) X=np+a

(13) x=a(N-p) (14) x=N-P (15) R=

-S-q.g (16)R=:'\/ (17) R-+’\/kn;M
(18) R==VA-B (19) R_——' |

N2 p
(20) R~a(C~‘—) (21) R—-E-i- <

21) N=M~RSP (22) F]=F-F2 (23) h1=h2- F
(24) s,=t-e+s, (25) S,=S,+e-t

20) C




Solve:-
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2X"4 - 7

5x+10-3x = 6
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5-2x

13

12-3x = x+6

TUTORIAL SHEET - (10)

(Harder Equations)
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TUTORIAL SHEET - (1.0)
(Harder Equations)

5 a -3
1 =3 15) 5.52 - x
X -1 3X S 3
2) F-f=T 10 T =%
3 2
=_5_ %
13) ” = X

ANSWERS (to Tutorial sheet 11.):-

(1) x=12.5 (2) x=-2 (3) x=6.5

(4) x=-4 (5)x=1.5 (6) x=0 (7) x=20
(8)x=15 (9) x=12 (10) x=40

(11) x=15 (12) x=-5.6 (13)x=0.2
(14)x=12.4 (15) x=4.6 (16) x=3.5
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